Vidar Christiansen

Econ 4620 Public economics: Seminar assignment for week 41.
Problem 1
Suppose that the government wants to make a transfer to families with children. 

The transfer can take the following forms: i) an increase in the child allowance, ii) a general subsidy on food, or iii) a subsidy on children’s clothes. 

a) Discuss arguments (related to efficiency, distribution, etc.) that may be relevant for the choice of instrument. 
b) Discuss whether it may make a difference if the purpose is the make transfers to children.  
Problem 2
a) Give a brief account of how public goods may be provided by private agents. 

b) Discuss problems with relying on markets or other forms of private initiative to provide public goods. Discuss specifically cases in which the public good is non-excludable or excludable.  
c) What does it mean that a public good is congestible? 

d) What are conceivable arguments for and against charging a fee for access to a publicly provided public good?
Problem 3
What does the Diamond-Mirrless Production Efficiency Lemma state?
Problem 4

Define “marginal cost of public funds”. 
